Réponses :
Partie A

Questions 1 : 245nm
Absorbance max de X 245nm = plus grande sensibilité
Spécifique car Y n’absorbe pas a 245nm

Question 2 :

A245nm = € x245nm .L.Cx
Cx = 0,90/(1x8000) = 0,1125.103mol.L"" soit 0,1125 mmol.L"

Question 3 :
A315nm = € x315nm -L.Cx + € y315nm .L.Cy

Cv = (A315nm -€ x315nm -L.Cx)/ € v315nm .L
Cy = (1,29-0,1125.10-3x4100)/ (1x4100) soit 0,2021 mmol.L"
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Partie B

Question 1
aH +OH < a +H20
To 01mol X
Tég 0,1-X 0 X
pH = pka +log la'l/laH]
5= 4,75 +log X/0,1-X
X/0,1-X = 10%2°
X =0,1x10%%/(1+10°2°)
X = 0,064 mol soit 64mL

Question 2

a+ H30" < aH + H,0
To 0,064 0,05 0,036
Tég 0,014 0 0,086
pH = 4,75 +log(0,014/0,086)
pH = 3,96
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